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(a) I=JI explx)dx=1,71828182: -
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N | BUREOME T 3% | T—1)

1 1.85914091 1.408 < 10!

2| 1.75393109 3.564 x 102

4| 1.72722190 8.940x10°®

8| 172051859 2.236x103

16 | 171884112 5593x10*

32| 171842166 1.398 x 10

64 | 171831678 3.495x10°5

128 | 1.71829056 8.739x<10-¢

256 | 171828401 2.184x10¢

512 | 171828237 5.462x107

1024 | 1.71828196 1.365x 107
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(b) f=j cos xdz =0.90929742- -
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N | Bl T 8% | T—-1|
1 0.58385316 3.254 < 10!
2| 083222888 7.706 < 102
4| 089027432 1.902x10?
8| 090455656 4.740<103
16 | 090811313 1.184x103
32 | 090900141 2960x10*
64 0.90922342 7.400x 105
128 | 0.90927892 1.849x10°5
206 | 090929280 4.624 <106
012 | 090929627 1.156x<10 ¢
1024 | 090929713 2.890x107
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(D) &=10",N:=2,h:=b-a T =h{f(a)+2f((a+b)/2)+ f (b)}/2,
S=h{f(a)+4f((a+b)/2)+f(b)}/3
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() :=L co8 xdx =0.909297426825681 - A&

N | BSalMs = is—7| N | BrEUMS e S-T1|
2| L713861151876502 5793 < 10! 2 | 0,015020706641806 5723~ 10 2
4| LTISSI884N921747  3.701 = 10 ¢ 4 | 0.9000R200IESTE  a253< 101
B | 1.718284150600806 2326 <10 ¢ 8 | 0.909317907636581  1.988 « 10-%
16| 1,718281074051880 1455107 16 | 0.909208662437128 1235 <10
32 | L718281587660000  9.102x<100 32 | 0.909297500543688  7.711 = 10-*
64 | 1.718281820088018  5.689 > j0- 1 B4 | 0.909297431643878 4818100
128 | 1.718281828/00608  3.556 < 10V 128 | 0.909207427188008 3011 > 10w
256 | 1.71828182846106F 2 2922<10-¢ 256 | 0.9092974265445000  1.881 = 10—V
512 | LT18281828459188 1381 = 10-© 512 | 0.909297426826858) 1176 %102
1024 | 1.718281828450088  8.959 %10 _1024 | 0.909297426825768  7.317 % 10~
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